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GROUP A

Answer any Four Questions. 1X4=4

=

Land reform includes
a) Giving ownership rights b) giving operational rights c) both
2. In sharecropping arrangement
a) The owner produces the crop b) Tenant produces the crops c) wage labourer
produces the crop
3. Land Reform is necessary but not sufficient
a) True b) False c¢) Can’t say
4. Sharecropping leads to undersupply of tenant’s input
a) True b) False ¢) Can’t say
5. In fixed-rent contracts landowners
a) Charges a sum of money to the tenant b) landowners pay rent to the local govt.
office c) pay wages to the workers

Group B
3X2=6

Answer any two questions

6) Discuss the role of agriculture in economic development.
7) What is birth rate? What is death rate?

8) Fixed rent is an efficient contract than sharecropping. Discuss



